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e fopeft e | 25 3T I AR 7, Tl 3Et
HEH § HHaR %! H&A1 8
If the 25" of August in a year is

Thursday, the number of Mondays in
that month is

(A) 3 B) 6

€ s (D) 4

3 YIS o1 T SHITSTT 511 T o sTehl vreal
T Ol T @ |

(A) &I (B) R

(C) dq« (D) WG

Choose the word which is least like the
other words in the group.

(A) Curd (B) Cheese
(C) 0il (D) Butter
foret Tafve@ e § PRODUCTIONS &l

QQPCVEUHPMT foran 5man 2 | 35t e
T ORIENTATION for® R forar s 7
In a certain code, PRODUCTIONS is

written as QQPCVEUHPMT. How is
ORIENTATION written in that code ?

(A) PQJDOVBSINO
(B) NSHFMVBSJNO
(C) PSIFOVBSINO
(D) PQIDOUBUIPO

{a <Al 3R 390 hLd g¢ HRae = hat, <d
ITeh! | o TF I shallal 97 § |17 T,
Tifae @ fore TR Tel@ @ ?

(A) 30 (B) = W&
(C) =i (D) WSt
Pointing towards Rita, Nikhil said, “I am

the only son of her mother’s son.” How
is Rita related to Nikhil ?

(A) Aunt (B) Cousin
(C) Mother (D) Niece

BETA21

I TP 1 Dl (COVAX) FSHT o
A HIfIS-19 I TR dod= TH el
TESAT G HIA HTR 2

(A) = (B) HeH

(C) 3ThIhI (D) HTESHiEn
Which is first country to get free COVID-

19 vaccines through the COVAX scheme
of United Nations ?

(A) Ghana (B) Sudan

(C) Africa (D) Nigeria

=1 o @ form wEX © g g9 Ui
&1 foraTaee el g3 8 2

(A) AT (B) G

(C) ==¢ (D) T

In which of the following cities Light
House Project is not implemented ?

(A) Agartala (B) Patna
(C) Chennai (D) Ranchi
I T AT QU= ko foredt <hl wi=rell

Y A SIS | 2
(A) Tema-fasn (B) e
(C) 3msfen (D) YT TR

Which Indian telecom company is
world’s fifth strongest brand ?

(A) Reliance-Jio (B) Vodafone
(C) Idea (D) Bharti Airtel

qes (BOLD — Bamboo Oasis on Lands
in Drought)mmﬁﬁ R o fepd
TSI 4 36 61 78 2

(A) TSR (B) HE e

(C) foEn (D) gfmm

The Project BOLD (Bamboo Oasis on
Lands in Drought) was recently launched
from which state in India ?

(A) Rajasthan

(B) Madhya Pradesh

(C) Bihar

(D) Haryana
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10.

11.

12.

TrE WRA TG g B & | 2019-
2020 o foTT 9,137 w8.3.+ (UDISE+)
& Tepat T 2

(A) WA T (B) T8 HACH

(C) fmmme™ (D) e we™
Which Indian ministry recently launched
UDISE+ for 2019-2020?

(A) Ministry of Health

(B) Ministry of Home Affairs

(C) Ministry of Finance

(D) Ministry of Education

s § S ach Rl oo g
3erdiehY mfger srafemm &4 & 2

(A) TEwrsTeen (B) wheddt SmEet
(C) Tgwliaa (D) o STEen
Who is the second Indian born American
woman astronaut to fly to space ?

(A) Sirisha Bandla (B) Kalpana Chawla
(C) Ritu Karidhal (D) Shreya Badla

39 WA TgAaH o1 A o 8, R R Ee &

T SIfUTT < ToTT < et Shl Sieer SFTRI TR 2
(A) IR (B) UeH AN
(C) Utz (D) HfHa aferss

Name the Indian wrestler, who gets two-
year ban for doping recently.

(A) Yogeshwar Dutt

(B) Pawan Kumar

(C) Ravinder Singh

(D) Sumit Malik

YT 1 98 hIF |1 947 TT §, &l TUs-
T-TUE §-hiere TuTTeft T <t TRt 7 2

(A) TR (B) sf@mm

(C) T (D) TeH=e weu
Which State in India is first state to
implement an end to end e-Cabinet System ?
(A) Uttar Pradesh

(B) Haryana

(C) Goa

(D) Himachal Pradesh

i 13.

14.

|15,

16.

=1 1 @ s Tt i qergTt A R 2
(A) fifs (B) @ThI
(C) feoeft (D) IE "

Which of the following is the capital of
Costa Rica ?

(A) Beijing (B) Dhaka

(C) Delhi (D) SanJose
wdwiA fafar <far 3 fora fohehe faemet
I YT TS Trerget e foha 2

(A) frewrEel (B) Rratgsw

(C) sl vl (D) TH.TH. gt

Smartphone maker ‘Vivo’ appointed
which cricketer as its brand ambassador?
(A) Virat Kohli

(B) Shikhar Dhawan

(C) Ishant Sharma

(D) M.S. Dhoni

FfEhifse gefereia (Al) JmaTia Tea
“SUPACE” WIia # fore =mamera & foiw
I[& fepan TR 2

(A) feooh 3= =T

(B) T § IS TE

(C) Tat= T

(D) TORId 3= =TT

Artificial Intelligence (AI) based portal
‘SUPACE’ launched for which court in
India ?

(A) Delhi High Court

(B) None of these

(C) Supreme Court
(D) Gujarat High Court

ToRa R TS ATt & T |e Hd

g7

(A) = B) @

(C) (D) =R

How many Indian States share their

boundary with Nepal ?

(A) Five (B) Two

(C) Three (D) Four
BETA21
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17.

18.

19.

20.

0 T IF 91 ¢ GTh (SAARC) &1 56
T’ ?

(A) U (B) TMR

(C) IHMEHE (D) SRARH
Which of the following countries is not a
member of SAARC ?

(A) Nepal (B) Myanmar

(C) Afghanistan (D) Bangladesh

SR Wx AGIT hl TS AT
fadawne?

(A) afEe (B) fezam

(C) W 3reHF (D) UereH
Which among the following is the

official language of Union Territory of
Lakshadweep ?

(A)
(B)
©)
(D)

Tamil
Sinhala
Great Andamanese

Malayalam

A o TTILTH o STTHR b AT b T
1 TUhaH T F 1§ 2
As per Constitution of India, what is the

maximum  strength  (number  of
members) of the Lok Sabha ?

(A) 530 (B) 552
(C) 550 (D) 540

T&=t feae e T A1 B 2

(A) Ta=R14  (B) 3@EH3

(C) Faa2 (D) 3R 1

When is ‘Hindi Diwas’ celebrated ?

(A) September 14 (B) October 3
(C) November2 (D) October 1

BETA21

i 21.

22.

23,

24.

SIS JEhT ST 7ot T2 UfSTETE i 9 2
(A) . (B) T

(C) A& (D) TSfa meft
Who was the first Asian Winner of
Nobel Prize ?

(A) C.V.Raman

(B) Mother Teresa

(C) Rabindranath Tagore

(D) Rajiv Gandhi

= 4 9 fore w=A w Ear-wa i
e ferd & 7

(A) ST (B) &S

(C) 3iwmerg (D) feeeft

In which of the following places Ajanta-
Ellora caves are situated ?

(A) Bengaluru (B) Lucknow

(C) Aurangabad (D) Delhi

FNo fohe TR T /ST Test 1
HTEEhTeh 300d & ?
(A) 3E| (B) e

(C) dfieTg (D)

Onam is the cultural festival of which
Indian State/ UT ?

(A) Assam (B) Karnataka
(C) Tamil Nadu (D) Kerala

frafafed & & &9 @ 78 o % g9
ERCER I

(A) gt (B) Iu

(C) = (D) =g

Which of the following planets is closest
to the Sun ?

(A) Earth
(C) Mars

(B) Mercury
(D) Moon
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Tcer . freforRaa e bt ey ufew qen 34
T 3MTRE FET (25-29) % ST T -

TAA | G ! Taviferep1ati ol Ig1-da1 h
foTe T o 6 for mefiSh 3 fova w1 sifEEn
&t 31 WgH foham | TiefiSft skt hd A o I
3R 3Tfean & g fowd o FHoR ¥ FHoR &ed i
of} ST ST ST TRl B | 3R 39 gl B
dveror ot feran 3RS “Fraa’ wher firg BT | &
& T sredt 2, gom’, gom 1 5 It B 3R
© I 1 Ifilg Bt 8 | 1 ¥g ffeaa 2 f
form I 3 stféen < fova o wnfa wenfia i &
gehdl | IM=T < A9E | THE SIfd 1 foep

FEE T | ST WY 1 WO It har o |

], Tefes Igi gl wifer 3TN g@ T &1 a1 SaHan
T i bt SITd &1 | Hife g & =R
3R iy <6t 3afe off wrifoeprer § & v gt 2,
31d: g1 Afg Tawa o1 shoamot A8 & a1 g4 Ig
STEShR BT &1 BT | JAfEdT ST SH <l Wia1 |
Terear # wnif=a wenfua e 2ft, qeft foe & gama
T ST T ShT AT TS g |

25. Tepelt oft g % wafi- % yq@ a B
ERCIECR |
=T, g@ 3T THTeHS HEl

ST 3 IUTEAT

(A)
(B)
©)

(D) o9 3R T

i 26.

27.

28.

29.

“fraT=a’ sTeg <1 ITYH T B
(A) welwifd

B) Fm=

(C) faferaq

(D) faepa

fora @ wrifa it 3Tmavash 7 7

(A) | ST & faeh™ & fog

R & HeR ged hl ¥l HIvet s M
= fog

IR 3R iy 1 34 & fore
ITAURAH TETHS H1 oh feTq

(B)

(©
(D)

forea wmifa 6t e % o we@ sTavEs
2

(A) feam s

(B) uftsm R I

(C) 3T 3R Frfiaar

(D) 3few SR I

el ¥ 3R BcF bl ot HIHA SR I
HehdT &

(A) T e gl
(B) wIg@

(C) AfEaTgm
(D) N 9o g/l

BETA21
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fdwr ;. fr=feriga e 1 samgdes dfew qen 34
T 3MTRA F¥T (30-34) % ST AT :

ORI 31191 o AHa-Sfed 1 AfT9T=T T
af¥g 30 &9 T} | A -Sfted &1 hig off &
fersrt o 3r3fagd srfershril & aregan 7 w1 | 3t
g g I 9= o1 I FHeArd 8 | A
fomm 3 gy 3R T, anfecrsr 3t i,
et 3R e, Yefufa 3 sfien, fafeas
3 &fe, Al ot e aen ey 3R
oy gt 1 3T |t & | fopet 7 forelt w9 4
39 ST T | TG fohaT B | 3T T
gfaw farsmes &1 2 | fos o = igef
THISER | oot SS1-ag] ATl el el 3R
3gTferentat o &1 gfora 78 B, Ied o T 31
S shi IS ! ATeeht STae # off Tiasiia
2 | T T srae ame 6 qed o v
IR | 36k I H T Yo 3R SIIUSTd
1 Rrfor 7 gem 2 | T & 31w @ 98 at

bR <hl Flaenati 3T qruersti w1 @it I |
HUIHT R | 37 g Tl -3 % ThIT & YATRIG |

Td T e 7 | T 3 39 aAetifeRa R B,
I9TAT S St & B, 51eq earent fondt off v
! TFIH L i dTehd W € 7 | FHSH o fafay
1Y 39 A9 @ | AT UF G o d19E1
ferhrer & T 31 Torm Y <t sgd wm & T E
3R T fova weh aiER-|1 & &0 § | i
HIT I o & H IcqTeH <hl <fiel gfig & o B
T g Tt & 3Tk -9 ¥ geE R |
fyegn 3t fafeeen & & & fagm &t @@
A<t 2 | T % T & ogsa ot 3R
TG o 3T (@ SO hich 318 NE
WA T o3l LG & | FamH, fos = 93 i
sifger fosm@ wem foram @ 3t Aamfaes foma-
gfa & & | Smte fam-ugfa & ags
FrfavaTdl 3TR &fe -TaUsti 8 Ih gt w8
Td HfoTd €1 & Hie - feraR o ek 8 3R e

BETA21

| USRI S1aF i Tehdl & | 399 TS o T4 i

M o Srefavarar, yAaqut 7 gferarrt fommd,
W 3R IITaT & qf e 8 | o R wm e
T 2 | 9T i =Tfe fop ag fosm <t ga g
T I TS BT H G e |

30. ‘gEmeTs Ieg | YA 7
(A) 3TETE U] | ST
(B) T8 3N I ST
(C) =eft o foTu Stfact <t g
(D) UTE H T 31Taet 6l aE

31. ‘SSnve-Tama’ ey & 39 B
(A) TR foeaa
(B) Ty Ud wferd fai
(C) aiepi gr fepar T famam
(D) WreTeHsh =

32. foum umaE i wed <) vt safae S
g & Fifeh 38 g & AT
(A) TR we HT@m 2 |
(B) IAaT % &7 U eald HL ehal & |
(C) Tt viifees glaensti @ o= 2 |
(D) Wehfa 3 sfersTd <1 faii R |

33. ¥ -G 4 I8 1 qe S
IR I fohan @ Top 38 it firefl 2
(A) T=gferd Sfa=<H &
(B) T A=hfceh qOeqrati &
(C) y9Yut Efgardl femon &
(D) YU frE Sftu=iERarsti &

34. fova & qiEREd oM 1 9@ HT R
(A) IR Td TR |11 1 e
(B) Towa-sgea shi wraT i foehd
(C) Toagm &t Sfem @ afaman
(D) o =t fersfier sifmat

—6- G
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féw (35-39) : e feu o uTe W amenfia € |
T31 % I E |
Directions (35-39) : The questions are based

on the below shown graph. Answer these
questions.

T § Teh W& § 7 BT o $hamd 3T e
3feh! T ITFITA ST TATR |

The graph shows the ratio of marks of History
to Geography of 7 students in an examination.

1.6
1.5
1.4
13
1.2
1.1

1
0.9
0.8
0.7
0.6
0.5
0.4
03
02
0.1

1.55

U (Ratio)

1 2 3 4 5 o6 7
B (Student)

35. sfagr@/qme & Afuskan U 3R
LT ST BT SR &

The difference of the maximum ratio and
minimum ratio of History/Geography is
(A) 045 (B) 1.20

(C) 0.90 (D) 0.50

36. BE 4 P A H 60 376 Tl | 35
3forea 7 o &
Student 4 got 60 marks in Geography.
His marks in History are —
(A) 48
(B) T T i &1/ None of these
(©) 75
(D) 68

1 37.  ToRcH BT A e 1 3T 3faeTE § ST

37k 3fid T 2
How many students got more marks in
History than in Geography ?
(A) 2 B) 3
€ 4 (D) 3
38. T @ ¥ fop B 1 e i 3ruE
3fgr | W 37 firet 2
Which of the following students got less
marks in History than in Geography ?
(A) 1,3,5,6 B) 4,57
© 1,457 (D) 1,2,3,6
39. I H B 3 § 4 % 0 30 i Tfava
§GA R -
Percentage increase of marks in
Geography from student 3 to 4 is —
(A) 15
(B) 3ATehg 319ATH/Insufficient data
() 90
(D) 20
ew (40-44) : T HT IR H Efafaa
W%Wiﬁ :
Directions (40-44) : Study the graph and
answer the following questions :

e A N I Hifgw 2A |/
80+ Production of Raw wool in Metric Tonnes
76
5T 7 ;
701
] ?
601 s6 é %
3557 % 51 53 %
50 A % 7 /
T L =2 = = I
9 F 4 8 g S
& &8 & & & &

40. 3T ° fuset o &t qe § 3rfreran

The maximum percentage decrease of
production over the previous year was in

the year :

(A) 2018-19 (B) 2014-15

(C) 2013-14 (D) 2017-18
BETA21
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41.

42.

43.

44.

2014-15 " = 3 1 3dTET 2019-20 <

3IcqTe i o |
The production of raw wool in 2014-15
was of the production in
2019-20.

1 3
A) — B) =
(A) 3 (B) 2

2

o = D) =
©) 5 (D) 3

e I o ICATGH H IATH TG 1 a8 AT :

The maximum rise in the production of
raw wool was in the year :

(A) 2017-18 (B) 2019-20

(C) 2016-17 (D) 2020-21

g IR 9T o IcaTed shi gt § 3afwm
IR I H F I T IcdTeH %
EERIRIN

During the last four years the production

of raw wool increased by % on
the production of the first four years.
(A) 26.8 (B) 250

(C) 19.8 (D) 222

313 TN h GRH 3TrEd Ieared o

The average production during the eight
years was

(A) 67.2MT
(B) 52.8MT
(C) 50.0 MT
(D) 62.5MT

BETA21

P TG (45-49) @ @ TE AR F MUR W
frferfiaa st & s i

Directions (45-49) : Read the following table
and answer the questions given below it.

i Geghd gry ATSIq aTfieh HHIRE

Yearly Commission Earned by Five
Salesmen

af | 2015| 2016| 2017| 2018 2019| 2020
(Year)

A 27,350] 28,500| 25200 29,800 24,600 27,000

B 26,850 27,900 27,400 28,000| 28,500| 29,000

C 26,200) 27,800] 28200 29,100{ 29,400| 30,000

D 27,850] 30,040| 29.800{ 30,060{ 29,800| 32,000

E 28,640{ 29,000 28,750 30,000| 29,750| 29,700

IR (Total) | 1,36,890 | 1,43,240| 1,39,350 | 1,46,960 | 1,42,050 | 1,47,700

45. T4 @ fopm a9 1 Topefl ot Trewi gra A
e 3T A I hT TR SRR S 7

In which of the following year was the
difference between the highest and
lowest commission earned by any
salesman maximum ?

(A) 2017 (B) 2020

(C) 2019 (D) 2018

46. T 2019 ¥ HHHT D gRI 3Td HHTeH
A g FIRa wHIE *1 e fRaA
siferera & 2
In the year 2019, commission earned by
salesman D was approximately what
percent of commission earned by A ?
(A) 18
(B) &TH ¥ =i T2l /None of these
(©) 52
(D) 21

47. T as 4 9emiq C g fq swHieH fusa
a9 <1 o # srferepan gfg guiar @ 2

In which year commission earned by the
salesman C showed the highest increase
that of the preceding year ?

(A) 2016 (B) 2019

(C) 2018 (D) 2017
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48. 99 2018 H B I HHIIE Uil He@HAl %
3t a9 % PHoT HHSE BT T feha
T o 7
In the year 2018 the commission of B
was approximately what percent of the
total commission earned by all salesmen
in that year ?

(A) 19.05

(B) TH ¥ 1 T2l /None of these
(C) 80
(D) 98

49. T ToEda &1 2018 T HHIIH, 2015
g H I gfg Rt 8 2

Which salesman’s commission in 2018 show
the highest increase over that in 2015 ?

A) A B) C

(© D (D) B

e (50-54) : < 77 arferert/amoft 1 Sy
I hL T = feu godi & I E
Directions (50-54) : Study the table and
answer the questions given below :
o= 7T 4 91 IRR St § Gl @ral shl
e (fet °)
Number of accounts opened (in hundreds)
in four Share broker in various months

IR

st/ | TR/ |/ |Iems/ |3/ | Raw/
Share May (June| July | Aug. | Sept.
Broker

TS / 25 | 28 | 35 65 55
Angel

IEH / 22 | 18 32 30 45
Sharekhan

SRiar/ 30 | 45 | 50 | 35 40
Zerodha

Egﬁa/ 35| 42 | 45 50 60

Tradebull

i 50.

51.

52,

53.

54.

G -9-

form SRR SRt © gt @l Y 3fted @
HEAH g ?
(A) TS (B) W

(C) ¢e9a (D) WM

In which Share broker is the average
number of accounts opened the maximum ?
(A) Angel (B) Zerodha

(C) Tradebull (D) Sharekhan

S T ol Wl h T <1 31Ed @
H gol WAl ! T&AT o 19d T qTHT
TeRaHT ST ShH =T SITET AT ?

The average number of accounts opened
in Tradebull is approximate what per cent
more or less than the average number of
accounts opened in Sharekhan ?

(A) 57.82 (B) 50.69

(C) 45.90 (D) 60
fraferfiga ® & fore welA & gt @t
T <l 3Ed HEdH @ 7

(A) M (B) W3

(C) 3T (D) Toawr

In which of the following months is the
average of the number of opened
accounts the maximum ?

(A) June (B) May
(C) August (D) September
I H Gol @i <hl T 57 H Gol @i ahl

T TR feha ScrTd o =11 ey off 2
The number of accounts opened in Aug.
is approximately what per cent more or
less than the number of accounts opened
in June ?

(A) 33.5 (B) 40

(C) 34.6 (D) 353

T3 T FcreR deh Tolet § ol @l <hl T&
SIS 8 el W <hl HE&1 31 3TIT 17 ?
What is the ratio of the number of
accounts opened in Angel to that opened
in Zerodha from May to September ?
(A) L5 (B) 1.04

(C) 225 (D) 0.75
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55. =RehElEal Hefud @
(A) T (B) T
(C) aTEehel (D) Taferean
Charakasambhita is a work on
(A) Polity (B) Mathematics
(C) Architecture (D) Medicine
56. WRd H MO A 911 €U T SEeh! bl
TSR T&! 51 1 8 2
I YEmegd
I1. JHhsl{
[ 3R Raesi
IV. Seqatas
What is the correct chronological order
in which the following rulers ruled in
India ?
I Sher Shah Suri
II.  Akbar
II.  Ala-ud-din Khilji
IV. Iltutmish
(A) IV, LIIL I
(B) LIV, LI1I
(C) LILIIL IV
(D) IV, IILLII
57. T 99 *H 4 ga e & qqeheiia 9 2
(A) THRH (B) U=
(C) TWed (D) Ta=
Which one of the following saints was
contemporary of Shivaji ?
(A) Tukaram
(B) Shankaracharya
(C) Namdev
(D) Chaitanya
58. ST h YU T SR_A i & 2
(A) AEadEd  (B) @re A
(C) e fdaem (D) e anA gfeem™
Who was the first Governor-General of
Bengal ?
(A) Lord Clive
(B) Lord Ripon
(C) Lord Lytton
(D) Lord Warren Hastings
BETA21

' 59,

~-10-

60.

61.

=1 9 & % 1 SireT wel w8 2

(A) B.C.261 - wfnyg

(B) AD.1709 - 3T=e 6Ty
(C) AD.622 - YWY IE
(D) AD.78 - 3 Had sl JEHATT

Which one of the following pairs is
incorrectly matched ?
(A) B.C.261 -

(B)
©

The Kalinga
War

Death of
Aurangzeb
Commencement
of the Muslim
Era
Commencement
of Saka Era

AD.1709 -

AD.622 -

(D) AD.78 -

3T © foh8 YA & “UTUg 37ieg B4 o A1
T ST ST 8 2

(A) TR IS (B) Qg asl]
(C) TR emE#eD (D) =g, .
Who among the following is known as
the “Grand Old Man” of India ?

(A) Dadabhai Naoroji

(B) Surendranath Bannerjee

(C) Pherozeshah Mehta
(D) W.C. Bannerjee

T 1915-16 H foheeh Aqca H &1 819 &1
AMIETS ?

(A) T S8 3 AT faereh

(B) faetep 3t amfere =

(C) Toeteh 3R ferfom=rg utet

(D) Taetes 3R AT ATelud T

Two Home Rule Leagues were started in
1915-16 under the leadership of

(A) Annie Besant and Lokmanya Tilak
(B) Tilak and Aurobindo Ghosh

(C) Tilak and Bipin Chandra Pal

(D) Tilak and Lala Lajpat Roy
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62. I AT kT A e e 2
(A) EER YA
(B) AT ieft
(C) GG s Y
(D) O 1EE
Who gave the slogan ‘Do or Die’ ?
(A) Sardar Patel
(B) Mahatma Gandhi
(C) Subhash Chandra Bose
(D) Jawaharlal Nehru
63. T = fEm =
a. o gqS 1. @t faeesr=<
b. Tmwfem 2. A wEEd
c. 3 EE 3. THHET ™
d. Temgs 4. %, ofiuue
NEIE RIEEY
5. e g
Match the following :
a. Brahmo 1. Swami
Samaj Vivekanand
b. Ramakrishna 2. Dayanand
Mission Saraswati
c. Arya Samaj 3. Ram Mohan
Roy
d. Satyashodhak 4. K. Sridharalu
Samaj Naidu
5. Jyotirao
Phule
a b c d
(A) 2 3 5 1
(B) 3 2 1 5
<) 3 1 2 5
(D) 3 1 2 4
G

—-11 -

64.

65.

66.

67.

TR | Eag! TR fhees 3cames
% U ag @ ?

(A) (B) TegfHfm
(C) den (D) ¥

The ‘Khetri Project’ in Rajasthan is
famous for the production of

(A) Zinc (B) Aluminium
(C) Copper (D) Steel
ST TS, S8 = TR TER - o

TG UG | AT [¢1 1 39 IS 1 T&Tdl
orgr ez T ?

(A) SETEET T8

(B) .. Huert

(C) . Toig JETg

(D) T Earsn

When Subhash Chandra Bose resigned
from the Presidentship of Indian National
Congress, the seat was offered to

(A) Jawaharlal Nehru

(B) J.B. Kripalani

(C) Dr. Rajendra Prasad

(D) Pattabhi Sitaramaiah

TeTed U - ferteft ufEer fera A iR 2 7
(A) o (B) =@

(C) To™ (D) Tt

The Salal hydro-electric project is
located across the river

(A) Jhelum (B) Beas

(C) Chenab (D) Ravi

e forge g 2 -

(A) 21T s (B) 22 femmrs

(C) 23fqa=r= (D) 185!
Vernal Equinox takes place on

(A) 21°March

(B) 22" December

(C) 23" September

(D) 18" June
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68.

69.

70.

TSN TP 3a fea @

(A) TE I (B)

(C) dufvagsmar (D) 3T&W

The Kaziranga National Park is situated
?JIX) Madhya Pradesh

(B) Kerala

(C) West Bengal
(D) Assam

Fraforfga @ @ %= o fearerfh 78 T H
afeatd 2

. Ed

II.

111

Bkl
V. TeEd
(A) 13RIl (B) II3WIV
(C) M3IIRIV (D) LRI

Which of the following are rivers of the
Himalayan river system ?
I.  Kaveri

II. Ganga

III.  Brahmaputra

IV. Godavari

(A) TandII (B)
(C) HlandIV (D)

S QAT A B -

(A) HTEHNI GRI &t T FTelt &

(B) % HEi Sb g ol T dTedt

FTERTIE &S X

SifeRT T3 o 1Y i

A i gRI ot I ATt

TS ol

Bank rate means

(A) Interest rate
moneylenders

(B)

Official rate of interest charged
by the Central bank of the country
(©)
(D)

Il and IV
II and III

©)
(D)

charged by

Rate of profit of banking institutions
Interest rate  charged by
scheduled banks

BETA21
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72.

73.

fE ST T HATS. Fohe HINTIAT Hl BT Tl
TG TSt O T STECENTT 2

(A) IS 3TETE BT |

(B) 0 | I T

(C) g |

(D) = U |

If RBI reduces the cash reserve ratio,
what will happen to the credit creation ?

(A) There will be no impact.
(B) None of these

(C) It will increase.

(D) It will decrease.

3T ¥ fopm TehR i Srdeawen § ware
W e AR B § 3R o
Tfafafert =1 ger Jeea oy AT wE
B E ?

(A) Ysfardt (B) afva

() fuPra (D) HHTSETE!

In which of the following type of
economies, resources are owned

privately and the main objective behind
economic activities is profit-making ?

(A) Capitalist (B) Global

(C) Mixed (D) Socialist
I %0 1 1 fehdieh gTU gEAEid il & 2
(A) 3TR.&1.31E. o=

(B) faa afea

(C) foawsh

(D) WA % TgAfd

The One Hundred rupee note bears the
signature of :

(A) RBI Governor
(B) Finance Secretary
(C) Finance Minister
(D) President of India
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74.

75.

76.

HAT (FEMA) 1 q0f €9 11 R 7

What is the full form of FEMA ?
(A)
(B)
©

Funds Exchange Media Agency
Foreign Export Market Agency

Finance and Export Management
Association

(D)

Foreign Exchange Management
Act

A o FI9H § S W U Wosdl’
feperd smfirer 8 2

(A) TSHgAH

(B) ST & I3 T

(C) TagAH

(D) THadt gt o

The ‘Public Health and Sanitation’ is
included in Constitution of India in

(A) State List

(B) None of these

(C) Union List

(D) Concurrent List

T B U=t TS STaeT 36 3Tad Tl
TR

(A) T AHR

(B) ¥ & T

(C) T Hifa = Frewms a0

(D) wifeTes e

Panchayati Raj System in India is laid
down under

(A) Fundamental Rights

(B) None of these

(C) Directive Principles of State Policy
(D) Fundamental Duties

13-

P77,

78.

79.

80.

3 TTeTeh B G aTEE B 8
(A) TEH (B) TTHIHIE T
(C) HFgAHRHA (D) =IgH

Current carriers in solid conductors are
(A) Protons (B) None of these
(C) Free Electrons (D) Neutrons
Tare =1 SAfUeRR U Hifetsh TR 8, S
for Tefea 2

(A) ITTC21AE

(B) S¥H U IS el

(C) ITTWE29TI 308

(D) 3=8¢ 199

Right to Education is a fundamental
right, which is related to :

(A) Article 21A

(B) None of these

(C) Articles 29 and 30

(D) Article 19

fr=1 ° @ foege dfoum @ 9 S
Tt T ?
(A) AT 88

(B) #.wA. 14

(C) .3TR. gt

(D) wgrent meh

Who among the following moved the
‘Objective  Resolution’ in  the

Constituent Assembly ?
(A) Jawaharlal Nehru
(B) B.N.Rao

(C) B.R. Ambedkar
(D) Mahatma Gandhi

TR dfaam % fem sgese A

STeTeEr % fa fifea 3 2
(A) Fg=BE21  (B) FHH U RIS TR
(C) ¥TWE29 (D) II=T 24

In which Article of Indian Constitution,
the interests of minorities are covered ?
(A) Article 21 (B) None of these
(C) Article 29 (D) Article 24

BETA21
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81.

82.

83.

84.

8s.

HeR # wgarad H g g

() faafmc  B) FEHIPRT
(C) foafmB (D) faefim A
Orange contains abundance of

(A) VitaminC  (B) None of these
(C) VitaminB (D) Vitamin A

[ _n»
196 56

(A) 18
(C) 324

TehTeT Y fopdeh AT I SHE R 7

(A) b g9 T AT} 1TE Tehe o 71t

(B) EATSSIETS shi TIfet

(C) TehauH Falicl o okl g =il T Gl bt

(D) TR e el 3 e g =l 1 gl <ht

Light year is a unit of measurement of

(A) Speed of Rocket measured in a year

(B) Speed of Aeroplane

(C) Distance travelled by light in a
vacuum during one year

(D)

Distance travelled by sound in a
vacuum during one year

AT UTerSt o1 T A I8 ofi B —
(A) hfewmm Tethe (CaSO,)

(B) Tifgam Feirss (NaCl)

(C) difeam SgehTaive (NaHCO5)

(D) hicaay HiFFINES (CaOCl,)

The chemical name of Bleaching
powder is also
(A) Calcium sulphate (CaSO,)

(B) Sodium chloride (NaCl/)
(C) Sodium bicarbonate (NaHCOj3)

(D) Calcium oxychloride (CaOCl,)
18-3h{z | H TR A 1 Jfwrd &

The percentage of pure gold in 18-carat
gold is

(A) 60%
(©) 80%

(B) 212
(D) 14

(B) 100%
(D) 75%

BETA21

' 86.

14—

87.

88.

89.

IR Reenfedi i 3TFa 30 18.5 99 7 | 3R
= 61 37 ot 3TH wTfet <t S dr 3fd
W 20% G AT B, B HI ST :

(A) 2899 (B) 3744

(C) 34ad (D) 31ad

The average age of four players is 18.5
years. If the age of the coach is also
included, the average age increases by
20%. The age of the coach is :

(A) 28 years (B) 37 years

(C) 34 years (D) 31 years

885x885x885+115x115x115
885x885+115x115-885x115

(A) 115 (B) 1000
(C) 885 (D) 770
NG |

s TR

g_ﬁ is equal to :

_l’_
(A) 4+415  (B) 1
(C) % (D) 4-4/15

A, T A 30% T T 3ThT forshi
20% W€ TS | GG 3h 3T T IHeh!
ERIC RS I

(A) 10% St (B) 16% =t

(C) 16% st (D) 10% =t

On decreasing the price of T.V. sets by
30%, its sale is increased by 20%. What
is the effect on the revenue received by
the shopkeeper ?

(A) 10% increase (B)
(C) 16% increase (D)

16% decrease
10% decrease
G

https://www.freshersnow.com/previous-year-question-papers/



90. TR ¥ GIR WAl H@Tﬁﬁ w g fafau | 1 95. A many-sided personality means
(A) 2T T T HET (g) a com;l)jllex personality
(B) 7 ST (B) acapable person.
(C) aperson having varied interests
(©) d&d Ei’ AL (D) asecretive personality
(D) i ¥ §gd el
96. Pt. Nehru enjoyed
91. g St I = T | . (A) reading and writing books.
(A) HEcIh1&T (B) WHETATHIET (B) doing all these and much more.
(C) WESTHIaT (D) HIgcATehIa (C) resisting tyranny.
(D) fighting political and social evils.
92. ‘Thel I oo v , .
A) WA B) 3ThaT 97. Which of the following statements
(A) ®) : reflects Pt. Nehru’s point of view ?
(© 3 (D) (A) Humanism is more important than
93. ‘T’ FI T FRAE 7 (B) "?“;frzce'is no common ground
(A) fowepr (B) F:lTﬁTH‘F[ between Science and Humanism.
(C) == (D) 3JEHhKR (C) Science and Humanism are equally
‘ 7 important.
94. ‘T ! FH AT A1 o forg = feu Mg (D) Science is supreme and Humanism
ICET R R R C R A ﬂﬁq . is subordinate to it.
&) ®) 5 98. Give S for the followi
. ive Synonym for the following :
© (D) Famous
Directions : Read the passage carefully and (A) - Awful (B)  Steady
answer the corresponding questions : (95-97) (C)  Popular (D)  Poor
Nehru’s was a many-sided personality. He | 99,  Give Antonym for the following :
enjoyed reading and writing books as much as Transparent
he enjoyed fighting political and social evils or (A) Obvious (B) Clear
resisting tyranny. In him the scientist and the (C) Opaque (D) Limpid
humanist were held in perfect balance. While
he kept looking at social problems from a Sreredt 1 &h
scientific standpoint, he never forgot that we 100. fee e A R
should nourish the total man. As a scientist, he AL
refused to believe, in a benevolent power gefifosrt : gaft Tﬂ%l?l'Fﬁ 0 ?
interested in men’s affairs; but, as a self- (A)  Of (B) gt
proclaimed non-believer, he loved affirming
his faith in life and the beauty of nature. (©) 14 (D) = .
Children he adored. Unlike Wordsworth, he Select t‘he related word from the given
did not see them trailing clouds of glory from altematlve§ C '
their recent sojourn in heaven. He saw them as Ornithologist : Birds :: Anthropologist : ?
blossoms of promise and renewal, the only (A) Plants (B) Environment
hope for mankind. (C) Mankind (D) Animals
G -15- BETA21
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